6R THEARBI=HEASHE

OuT | N
BHE BB FafR B = B x® 07:30
B73 =& BB BT NS 2K B o737
WE BR AB RiE B0 R 2enre 1BS 0745 [EX 1E—
=% BB 0752
= B2 B e ZH BE FRZE 08:00
= OHE 7ufE F0EX 0807 &Il {8 BB B3 iR RIS AR IEZ
50 F0= WA f21RB S SIETN B6 Z& 0815 @B Ei B T8 BN =0 HE Rl
PEF & pise i ES el £ 80 B= 08:22
EH 1B Bl 18 NR & BE - 08:30
RIS 0837 |Hl HiEX M =18 B &5 Bd &F
(EIEELE S8 B BR A0Z HE 2 RR 0845
7hE B— 5 = BE BF AR —1E 0852 (/I E83
EEDF R BRI E— ZB Bi& 5 E— 09:00 (=& FE{Y =H 2 B ER 1B SERR
S Bl Il Z—aB EH K8 09.07 |BlF &0
A B— LK foh HWEF H— 0915 (BlF &0
B2zR B 25 ™ LSNPS 0922 (&8 HE B 2 S BF PIED aAB
RE &F BE EX fElB fi+ 12 BF 09:30 (&8 1 B —2X
R = wE1—g RME = N Y] 0937 |H#EW
=17 S fEls B F0O 280 0945 |XxH FHE8I
0952 W2 55X B —XR BE kg B2 ES
1000 |MW S
TR &7 188 —% R— Ak 1007
A 205 oufE & BA8 COA =YioREES 10115




